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| Nate — Attempt Five questions ocnly. Question

Mo, 1 is compulsory. All guestions earry equal

marks.
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L. Discuse the need of asexual method of propagation in

fruit plants. Describe any fwe asexual methodz of
propagation each in guava and pear.
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Write short notes on any five of the following :

(i)

ib)

{e)

id)

(e}

i

Causes and control of fruit necrosis and black tip

in mange

Parthenocarpy in fruits

Use of growth retardants in fruit production
Use of preservatives in fruit processing
Trainers' training programmes

Use of pollinizers in temperate fruits.
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Discuss the various measures to make orchard

management more efficient,
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Discuss the methods of evaluation of extension

PrOgrammes,
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Deseribe production techniques of pear and litehi under

the following heads :

(i)  Area and production
(i) Climatic requirement
(tii) Improved varieties

(&)  Layout and planting
(v} Manures and fertilizers

{vi) Harvesting and vield.
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Write family, botanical name, origin. and their FrOwWing
regions in India -

{fy ~ Pecan nut

(it FEuropean plum

(@) Loquat

{iv} Coconut



£ 6 3 Harti.-1
() Strawberry
(wi)  Blueberry
{vii) Pomegranate
{wfif) Lemon
zx)  Grape
{x) Bael
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Write True (T) and False (F) for the following statements :

(@) Gummosis is one of the symptoms of Cu deficiency

in fruit trees. {T/F)

(b1 Floral malformation is a comman disorder of
litehi, {T/F)
¢} "Wered' is a high yielding variety of guava. [T/FY

iy Shot berry problem is  related Lo

strawberry. {TF)

(¢} “Red chief is a spur variety of apple. (TVYF)
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Paclobutrazel used in mange for floral initiation

i# an anti-gibberellin compouand. {T/F)

Hexaponal system of planting accommodates
15% more plants in comparison te square

system, (T/F)
The fruit of coconut is not a drupe type. (T/F)

Panama wilt iz & common disease of

EuavE {T/F)

Tartaric acid is a major acid present in

tamarind. {T/T)
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eIEH 1 FIEA (floral malformation) TN H
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Chooze correct answer :

{as}

(h)

3]

Which of the following is rnof a dicot ?

(&) Mango
[z£) Guava
{ifi)  Banana
liv)  Sapota

ITHR is situated at :

4] Bengalore (Bangalurn)
(@ Delhi

{#f)  Gurgaon

{w)  Coimbatore

The following PER is used commercially in grape -

(i BA
G GA
) 1AA
(i) Bthrel

B.T.O.
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idi The following is dwarfing rooistock of

apple :

(&) M,

L) My

i Mg )
) Mag

(¢t Which of the following is not a high-ehill

peach 7

() Alexander

(i} Elberta

i{iy  Peregrine

(i} Flordasun
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o Papain, a white latex, ohtained from unripe papays

fruit is a :
4] Carbohydrate
{ed) Vitamin
(£58) Enzyme
(i}  Fat
g} The following is not used as a preservative -
Fi Potassium metabisulphite
(i) Sodium chloride
(EF) Benzeie acid
{iw) Boric acid
th)  ‘Umran’ is a varisty of :
(i) Bael
{eE) Ber
i) Mulberry

{fwr) Drate
P.T.O.
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(i) A temperature of 60°C is equal to :

3] 10O0°F
(1L 120°F
{fii} 130°F
{zu) 140°F

(7 Chaubattia paste has three constituents : red lead,

linsecd oil and :
(2] Zine sulphate
(ied Copper sulphate
(iiz) Copper carbonate
{iw} Iron sulphate
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i3] 100°F
(i) 120°F
(Hiy  180°F
fvy  140°F
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